3agaya Ne1
(YCTHO).




3aaaya Ne2
(yCTHO).
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TpeTnn npmM3HaK paBeHCTBa TPeyroJibHMKOB

Eciu Tpu CTOPOHBI
OJIHOTO TPEYTrOJIbHUKA
COOTBETCTBEHHO
PaBHBI TPEM CTOPOHAM
IPpYyroro
TPEYTOJIbHUKA, TO
TaKUE TPEYTOJIbHUKU
PaBHBI

Ecm AB=AB,,
AC=A,C, BC=B.C, , 10

AABC= AAB,C,




3agaya Ne3

/laHo: AB =5 cm
BC =0,9 am
Hantu: Paoc.?




PaBHbI 1M 3TU TPEYroJibHUKM?

B
0,5M
40 cm
AT 30em ©
N
0.4 m
5 AM &




/locTaTO4HO /1M Y HAC AaHHbIX, YTOObI
yTBEPXAaTb, YTO TpeYroJ/ibHUKU paBHbI?
Ecav HeT, TO 4YTO elle MOXKHO
noTpeboBaTb, YTOObI TPEYrOJIbHUKM
OKa3a/IMCb paBHbIMU? Puc 2
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